EARAZROREIERT — 2 N—XBISY —F 20156868 (+) 3EIFR#1H

BGN=«%7% 10007T ¥5%3&E (BA) UgEl N7 BN
[A&4] 1 7 15,000,000 § 2 7% :6,000,000 § 33 :3,800,000 4 3% :2,300,000 5 & :1,500,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S A > 5 | fEKIE— 1:47. - .8 100. 1 BEERE (ER)
1 > PR EE 7| %0 (_)3 R R R (4_620) HoHo x4 7 - ENAK
R:xA1z=7—Z B:yrly—h— H—L—+TvINr T7—LBRS
. # 3 | K2 1:47.4 2-2 34.2]99.4 | 3 456 | AHEE (RR)
2Rl 3| L—>T7 LA b 53.0 (3/8) 4e) | ) EFH-TY—F—X .2z
L7 R¥14YL—> B:Ea—FT4—3>TXh =be ]
. C. JLx—Jb . = REEE (FX)
3 ol I TX—1 it 4 o 1(/:3;;1 7-7 33.5]99.8 | 2 12(1»2 gmﬂgﬁ
QT4 =TT BiYrE—F #a77-4
s Ty KOEA . = BfETF (BXR)
A . REES H 6 i 1(.14/72.)5 1-1 34.4] 9.8 | 11 ?g;t *#ézﬁ
XD THANAN BRI HTLA X TRIRAUS
- N . EHR 147, — . . BATR ()
51)1| YTV 7> Rt 0 I e e B g St
L2 F2—ATYUNF1 B:o7ATL2R WHE IE
> ; ; 4 5 | AAER— 1:47.7 9-9 33.6| 9.5 | 6 432 | EE (RR)
61719 LRy |‘7}[/_'7 52.0 (1 1/4) (+6) (Ef_"j"/?—l/—:/‘/7“
XL ThANAN BA by I—7 A v SN
NN SN 2 H R : — 2fRHEEL (E#
i BEEESET # s | &8 R
SRFAOd-IE BiL—=FrR-F J—H1Tp—1L
Co = s e 4 3 | JIIEFHE 1:48.0 5-5 34.4] 928 | 5 488 | WERBK (BR)
8 7 NAFTHET 53.0 (1 3/4) (+6) ﬁﬂllgi
L EAF Y v L Biax/v—AAFK IRES %
RS FEEZ :48. - . . A= (EX)
9l5!5 gLvanJ # 5 55_0% 1(;8t§) 4-3 34.7190.2 | 7 (5_028) =
R:a=/¥LLy b BT T7—L #1525
. # 5 | HRILBLF 1:48.2 11-10 | 34.0] 9.9 | 9 | 434 |WAH= (FH)
10/ 7| 8 HvILR— L [B] 513.0 (1 1/4) (+8) HES
R:ZAR—3I2TR—L BTAIZXI w1 ENCPERGNZ e
5 # 5 | EPRE 1:48.3 10-10 34.1| 89.8 0 468 | ALHAAA (RR)
11811 M/ TT X 51.0 (7€) B Bl = oo
LN=Y7514 B:AN—HI-2> [id=Eie]
@ 21 L
£ 46.3-34.2
NA>ZA L | 12.5-11.1-12.2-12.6-12.6-12.1-11.4-10.9-11.9
® 1—F—@EBIERL
13—7F-
20—F—
Ja=77= 4,3,1,5(2,7)10,6,9,11,8
40 —F— 4,3(1,5) (2,7) (6,10)9(11,8)
[ N5
B 2 330M 714K 2-3 280 & 2-3 670M JEE 2-3-10 690F9
# B 2 120 2-10 210M B E 2=3 670M JEH 2-3-10 3,570
3 130M 3-10 300M B H 2-3 1,250H
10 120/

ABICOVWTRDTEEERROODE. TR LIV,



